
ASSEMBLY INSTRUCTION 1 OF 4

(B) Seat board×1 (A) Backrest 1PCS 1PCS

4PCS

1PCS1PCS 1PCS 1PCS (E) Brace×1 

(G) Screw M6×30 (H) Screw M6×15 18PCS 12PCS(I) Washer M6

(F) Swivel Bottom×1 (C) Left armrest×1 (D) Right armrest×1 

2PCS(J) Nut M6 

PANEL AND FITTINGS IDENTIFICATION:

HARDWARE LIST:

Step 1:

Use screw（G） to fix the 
backrest（A）with the 
seat board（B）. As the 
picture shows.

Note: When you assembly 
one side, pls just fix it don't 
tight it.  After you fix the another 
side, then tight both side.

Please note：
The side with logo is the 
back of the chair. Don't 
assemble it in opposite
position.

2PCS(K) Rubber washer 1PCS(L) Allen wrench 1PCS(M) Open spanner 

J



Step 2:

Please note：
The square raised part of the aluminum tube is 
assembled facing the front, and the smooth part 
is installed facing the rear.

Use screw（H）and washer（I）to assemble armrest（C,D）with the finished seat board（B）, As the picture shows.

Step 3:
Use screw（H）to fix the brace（E）with the right/left armrest（C,D）.

2 OF 4

Brace（E）

Front



3 OF 4
Step 4:
Use screw（H）and washer（I） to assemble finished Swivel Bottom（F）with the finished  brace（E）, As the picture shows.

Step 5:
Put the cushion, Installation completed.


